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INDIAN FINANCIAL SYSTEM

Paper : 104

Full Marks : 80

Time : Three hours

Thefigures in the margin indicate full marks
for the questions.

Answer either in English or in Assamese.

1. Choose the most appropriate answer from the
multiple choices given against each: 1x10=10

RRjsl R<1s?|4 ^

(I) "Financial system basically refers to the
%

tr^sfer of frinds from suiplus sector to deficit
sector of an economy" This statement is :

(a) True -

(b) False -

' Contd.



(ii) Capital market deals with

\5ct^ %I| C^HcGI^ t'TCSs vgfj^ ?

Short tenii fund

(b) Long term fund

(c) Both (a) and (h)

(a) ^ (b)

(d) None of the above

(Hi) RBI was established in ^

Fill in the gap with appropriate word 1

wSiw

(a) 1934
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(b) 1035

(c) 1948

(d) None of the above

c<mh(5iw ^

(iv) Which of the following is not NBFI ?

C4HCi5l 'SRT ?

(a) IFCI

(b) UTI

(c) SBI

(d) LICI

%1T f^^fsr
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(y) 'At the time of granting loan commercial

banks occupy the position of creditor". The

Statement is :

m' I SfecGf:

(a) True -

(b) False -

(vi) Depository system is constituted by :

(a) Depository Participant

(b) Investors and issuers

(c) The depository
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(d) All of the above

(vii) 'Merchant Bankers provide mainly fee-based
financial services'. This statement is :

«

(a) True - •

(b) False -

(viii) At present the total nmuba of nationalised
commercial bank in India is :

W»iH 'oh^ovo "5 '̂RUT
^•cT ;

(a) 14 - i sW

(b) 20-Jto'Bf

(c) 28-'̂ b-'5r

(d) 19 - isiSt
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(ix) IRDA is a body which regulates the
following:

^ ^

(a) Insurance Sector
♦

%rr^ • .

(b) Banking Sector

(c) Both (a) and (b)

(a) ^ (b)

(d) None of the above

(x) Which of the following is related with the

primary market ?

fi?rf c<pl*i(5l v2ff<?ipi<p ?
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(a) Trading ofnew issues ofnew company

(b) Trading of new issues of existing company

(c) Both (a) and (b)

(a) (b) vSffw

(d) None of the above

2. Answer the following questions in about 50 words

each: 2x5=10

I^vo'̂ vo :

(a) Define Scheduled bank

»
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(b) Name any three credit rating agencies

working in India.

^21^ /?•

(c) What is 'Commercial paper' ?

1% ?

(d) Who is depository participant ?

(e) State three benefits of hire purchase system.

3. Answer fliij;/b«r of the following questions in
about 200 words each :

v2f^ v2|1?r ^oo'&t *1^ 1%^0W

^ biR'SH ^ : 5x4=20

Distinguish between bank and Non bank
Financial institutions
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(b) Write a note on call money market.

\5cT% 1

(c) Explain the role of co-operative banks in
Indian economy.

>|5Rra C^s;:^ ^ I

(d) State the basic features of financial services.

(e) Explain" the advantages of mutual funds in
India.

v»1^voVo <P^11

(f) "Stock Exchange is the'Economic Barometer'

of a country" Explain the statement.

Wm ^

" Wi5f'^JhUT WI
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fe) Briefly highlight the functions of a modern
commercial bank.

^STtCcTt^-pfl^ ^ I

4. What do you mean by financial system ? Discuss
the important fiinctions of financial system.

^Iqcci 1%^ ?"R%i
2+8=10

Or/^s^

"Awell developed financial system is the basis for
the development of the economy ofa country".
Critically examine the statement. 10

^R)I^V0 CPpej^ ^ C^l^"

5. State the various defects of Indian money market.
Also suggest the necessary measures to remove
these defects for the development of Indian
economy.

I
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Or /

"What is Capital market ? Explain the methods of
issue of stock in Primary market. 2+8=10

WR ^^1^ ?»2ffQ|fw <i\srH\o vSlI^v^R)
^5^ ^5^ I

6. . Define leasing. How can you differentiate leasing
from hire purchase system ? Explain. 3+7=10

Iwf I iiNvs 1%

1% R^^\o v2iuoiT ^5[tr^

Or/'^^Mt

What is credit rating ? Discuss the advantages and
disadvantages of credit rating in our country.

2+4+4=10

G2f#& ^ ? WsiR C3Fi^

7. State the year ofestablishment ofSEBI ? Describe
the measures taken by SEBI for protection of
interest of investors. . 2+8=10

c«TraT '1^1^ ^1
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